Set: Tuesday 3" June

Tested on: Friday 6" June

486 +5 = w 4

864 +6 =
279+7 =
623 +8 =
816 +9 =
196 +7 =

12a. Fill in the missing number or
operation.

515 + = 519
879 - = 872
982 5 = 987

- 8 = 7N

531-5= F F
242 -6 =
103-7 =
971-8=
340-9 =
101-6=

12b. Fill in the missing number or
operation.

602 + = 609
817 - = 812
Q91 8 = 999

- 7 = 762
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8a. Cora is thinking of a number.

<1~ nr,
-

She takes away an odd number of ones
but no tens or hundreds.

Write down all the numbers she could
be left with.




